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Today, 5G is a household name. The value, significance and major vendors of 5G networks have become an
indispensable topic for street gossip.

However, some friends will think about such a problem: although 5G is good, but not all network connections rely on
wireless communication to solve. For example, the computer and TV at home still need to be connected to the fixed
network. Is the Internet speed of mobile phones much faster than that of home fibers in the future?

This is actually a very valuable question. In today's era when the network is in full swing, 5G can't stand out. If 5G is
right-handed, then the evolution of all-optical networks is left-handed. Only when both hands are enclosed, can the
telecommunications industry give a solid embrace to the interconnected future world.

In contrast, although the concept of optical fiber has been well known for a long time, it seems that thermal optical
networks can not compete with 5G at all. Behind this lies various reasons of industry, technology and business
cycle.0 O R4850G60 0 0 00O OO DO,R4850G600 O O R4850G60 D D D OO0 DOODOOOO
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